Notes for Friday 

Remember:

binomialpdf(n,p,x) – finds probability for a single value of x   

P(x = k)

binomialcdf(n,p,x) – finds cumulative probability up to x   

P(x < k)

Examples:

Suppose we will toss 6 coins.  Let x be the number of tails tossed.














a) Find the probability of getting exactly 3 tails.


P(x = 3) = binomialpdf(6,.5,3) = .3125



b) Find the probability of getting at most 3 tails.

P(x < 3) = binomialcdf(6,.5,3) = .65625


c) Find the probability of getting less than 3 tails.

P(x < 3) = binomialcdf(6,.5,2) = .34375



d) Find the probability of getting at least 3 tails.

P(x > 3) = 1 - binomialcdf(6,.5,2) = .65625


On Note page:

The number of inaccurate gauges in a group of four is a binomial random variable.  If the probability of a defect is 0.1, what is the probability that only 1 is defective?  








 n = 4 & p = .1

P(x = 1) = binomialpdf(4,.1,1) = .2916

More than 1 is defective?
P(x > 1) = 1 - binomialcdf(4,.1,1) = .0523



A genetic trait of one family manifests itself in 25% of the offspring.  If eight offspring are randomly selected, find the probability that the trait will appear in exactly three of them.  
     n = 8 & p = .25

P(x = 3) = binomialpdf(8,.25,3) = .2076

At least 5?

P(x < 5) = 1-binomialcdf(8,.25,4) = .0273



In a certain county, 30% of the voters are Republicans.  If ten voters are selected at random, find the probability that no more than six of them will be Republicans.
     n = 10 & p = .3
P(x < 6) = binomialcdf(10,.3,6) = .9894

n = 6		X	0	1	2	3	4	5	6


p =.5		P(x)	.	.	.	?	.	.	.





What are the possible values of x?  Use binomials to calculate the probabilities.








n = 6		X	0	1	2	3	4	5	6


p =.5		P(x)	?	?	?	?	.	.	.





n = 6		X	0	1	2	3	4	5	6


p =.5		P(x)	?	?	?	.	.	.	.





n = 6		X	0	1	2	3	4	5	6


p =.5		P(x)	.	.	.	?	?	?	?





Binomialcdf finds less than or equal to (<) – so you MUST subtract from one to find the part youy want!





Found on calculator above VARS key!





Think:  does not include 1





X	0	1	2	3	4


P(x)	.	.	?	?	?





X	0	1	2	3	4	5	6	7	8	9	10


P(x)	?	?	?	?	?	?	?	.	.	.	.





X	0	1	2	3	4	5	6	7	8


P(x)	.	.	.	.	.	?	?	?	?








